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Note: (i) The maximum marks printed on the
question paper are applicable for the
students of the regular colleges (Cat.
‘A’). These marks will, however, be
scaled up proportionately in respect of
the students of NCWEB at the time of
posting of awards for compilation of
result.

(if) Answers may be written either in
English or in Hindi; but the same
medium should be used throughout the
paper.
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Attempt any five questions.
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‘Problem of choice is the problem of
allocation of resources.” Explain how ?

How is the problem of resource allocation
solved in centrally planned economies and

capitalist economy ? 8,7
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Let the demand function be given as
04 = 70 — 4P and the supply function be
0, =~ 20 + 2P. Find the equilibrium price
and quantity from them.

Show that on a straight line demand curve,
price elasticity of demand at different points
is different.




851

{c}) Why is there a need to separately evaluate

the determination of agricultural prices ?
How does Government help in stabilizing
farm prices and income ? 4,4,7)
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(a) Differentiate between equivalent and
compensating variations of a price effect.

(b) By using the concept of price effect being
decomposed into income effect and
substitution effect, explain that all inferior
goods are not Giffen goods. - (5,10)
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Explain the producer’s equilibrium using
isoquants and iso-cost curves, How can we use
isoquants to analyse both cost minimisation and
output maximisation? (15)
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Derive the long-run supply curve of a perfectly
competitive industry. How is it different from a
short-run supply curve ? (15)
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What do you mean by market failure ? Examine

the sources of market failure. How does
Government policies help to correct market
Failure ? (15)
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(a) What is meant by theory of comparative
cost 7 Explain it with an example and also
discuss its limitations.

(b) Explain the objectives and agreements of
WTO and GATT. (10, 5)
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Write short notes on any two of the following :

(a) Law of variable proportions.

(b) Principal - agent problem

{c) Excess capacity in  monopolistic
competition

(d) Economic Rent (7.5, 7.5)
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